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That Graph Looks

a Little Sketchy

Lesson 5.5 begins on pg.385 in your book,
but what's below is not in your book

f
Consider the functions k(x) = x — 1, m{x) = x + 2, n[x} X — )(JSX+1?(X f;Dn[x}
v 3 0= x —'Zx ~ox+lo

a. Grﬂph k{x]: m{x]! ﬂnd n[x}

[ b. Determine the degree of the function f{x).
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Explain your reasoning.
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e. Determine the intervals over which the value of fix} is pusmue Detennlne the intervals over which
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f. Sketch f{x).
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This is also not in your book.
Consider the graphs of the quadratic function gix) = (x — 2)* and the cubic function f(x) = g(x) - h(x).
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b. Determine the x-intercept(s) of h{x).

Explain your reasoning. ,
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d. Determine the equation of the function h(x). Explain your reasoning.

h(x)= - x|
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This is not in your book.

3. Determine 2 linear functions and 1 quadratic function such that the product of the 3 functions will
build a quartic function with a double root at —1 and a y-intercept at (0, —3). Write the equation of
the quartic function. Explain your reasoning.

4. Determine 2 quadratic functions such that the product of the 2 functions will build a quartic function
with only 2 x-intercepts at (—2, 0) and (1, 0) and a y-intercept at (0, —8). Write the equation of the
quartic function. Explain your reasoning.
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Classwork/Homework
Work on Lesson 5.5 in your book

for the remainder of class... ...
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